
Assembly Manual / Guide d’assemblage /  
Manual de ensamblaje /��������������/  

Montageanleitung

364.3 cm (143.4 in/po) 364.3 cm (143.4 in/po)

31
0 

cm
 (

12
2.

1 
in

/p
o)

조립 설명서

QUESTIONS? ���������	
���



3

K X 1

N X 4

O X 4

X1 X �� (+�)

K1 X 1

N1 X 4 N2 X 4

O2 X 4O1 X 4

Y1 X 44 (+5)

Wa X 1 Z X 1

V� X 2�� (+10) X X 32 (+3)



4

A X 4 B X 4

G X 8

E X 4

F1 X 4

E1 X 4

L1 X 4 L2 X 4

B1X 4 B2a X 8

F X 4

H X 8



5

D X 4

J X 4

Q X 48(+3) Q X 48(+3)

I X 4

M1X 4

M3 X 8

M2 X 8

M4 X 8 optionaloptional

Net X 4 Curtain X 4

1 2

optionaloptional



6



7

1 / 1

X4

X4

M1x4 Vx16Ax4



2 / 1

8

B1x4

Dx4

Vx40

X4

X4

Bx4



1

1

1

1

9

3 / 1

Xx32

X4

1



/16

M2 x8

Vx16

X4

1

1

1

1

1

10



5 / 16

L2 x4L1 x4 Vx32

11

1

1

1

1

X4

1



X6

1

/ 1

V x40 Q x48

B2a x8

Q x48

X8

X6



1

1

1

1

/ 1

1

X4

Vx16Ix4

13



1

/1

J x4

K1 x1

Vx12

E x4

X4



1

1

1

1

/ 1

1

X4

1

Vx8



1

1

2
1

1

1

/ 1

X4

1

Fx4 Vx12

2

X4



1 / 1

1

Wa x1Kx1



1

1
1

1

1

1

2 2

2
2

1

1 /1

1

2

M3 x8

M4 x8 Vx48

Hx8

Gx8

x8 x8



13/16

19

1

1

1

1

1

1

1

1

1

1

1

O x4

Nx4 X1 x40N1 x4N2 x4

O1 x4

O2 x4

X40

X4

X4

2

O

O1

O2

N

N1

N2

2



1 /1

Y1 x5

F1 x1

O
N

N1

N2

O1

O2



1 /1

2

F1 x3

E1 x4

Y1 x39

X4

X3

O
ON N

N1
N1

N2

N2

O1

O1O2

O2



1 / 1

2

1 2 93 4 5 6

101112

7 8 12 pi
12 pi

1 2 83 4 5 6 1210 1197

250 cm / 137.8 in/po

21
7 

cm
 /

 8
5.

43
 in

/p
o

1 2 83 4 5 6 1210 1197

1
2X4

X4


